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Key fact : Given linear objective function w/ linear
constraints

, if the objective function hes meXfm in
,it must occur at corner of fusible

region .

If feasible region is bounded , objective function
has both wax and min

.



2- = 300×+20Of6010=300×-1200y
Look at

6000=300×+20Oy

•

1000000=300×+20
Oy00×+20Oy



Example : Maximize z=5Xtl0y subject to constraints

3xt2y > 60 X>0 , y>O

X-14g >40 400=5
xtioyT3×+25-60 (0,30)→ •← )Xt4y-_ 40-X -- 40 -4g d\I÷: ¥÷*÷¥.

60 = Loy 116,6)
"90)

g- 6- A- 16 x -13=60 effete



( 0,30) : Z = 5(o) -110/307=300

( 40,0) : 2- = 5140) t 10107=200

( 16,6) : z = 5/167+10167=1430
Is 300 the mex ? No ! ! ! Can increase forever

since region is unbounded

It dies here a minimum at (16,6)



Example : Maximize 2- = 12×+9y subject to the
constraints 4×-13

y 536
X 30

8xt3ys 48 y70,8×+32=48
(o.o) : 2- = O←Min

conto
✓Eef?. Ps III? ( 0,12) : E- 108)- Mayes(3,8)

a max (3,8) : Z = 108*↳qy⇒, yo, ; ⇐ zz•
•

Coco) (6,0)
Multiple maxes
-

(co -merry)



Example : Maximize 2- = 1000000Xtlty subject
to

5×t7y> 35 X > O

3.xt4yE 12 YEO
d

15×+72=35 Fusible region is empty !

no max}min
L



Has at least one aux and

Bounded Feasible Region
one min (maybe more)
Check corners
-

Might havemax/min÷÷..
Empty F. R .

No Max or min


